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Homework: Section 2.1 on Pg. 55; #1-4, 6, 9, 13, 14, 17, 18, 19, 22-24
Workshest [itthe backuf pid:ige] #1-8

Commission: ,éll_.;'ﬂg"l pﬂ:d —I’.Ei‘f *Lﬂlw mg,rf[, }fﬂfu jﬂfl,.f FPP/%@J
Commission = Sﬁdf@ x Commicion vate E—

A 4_ g
e U-_C 7 omial  Aev Lovai.
Example #1: g i Do comal Ao forme
Frank earns 8% commission tiﬁ‘fummre sales. If he sells 53000 of furniture, how much
commissien does he earn? % -a

A/ ili'_-] -o-" o 8
(pmily S0 = Sales xvate 31 00

ol 5
- $?m)>:a®% @003
= 472 40
Sometimes, you earn M amounts of commission depending on how much you sell.
Example #2:
Sally receives commission based on how much wedding cake she sells. She gets 12%

commission on all cake sales over $600. If she sells 52100 of cake in a certain week:
a) How much commission does she earn? 17 P Ir?
o T

Cpm3Sin= Salls x T ate L P
- (42— 340) * 0.1
= HISOx 0.2 = yg_g

b) Sally is paid 522 per hour. If she works 35 hours during the same week, what is hﬂ_ﬂ_
income for the week? Jo

lﬁ;é_f_:' 52255 fofn( = was€ + Compn sSiay
- § 70 = 7704 $E0
$45D




Piece of Work: /U ;’af} phid Lo e, .7%5? Yov Mﬂ@/@é

Example #1: <=
Sam works in a Sgléssy clothing factory. He gets 510 for each T-shirt he sews. He can sew a T-

shirt every 20 minutes.
a) How much does he make per hour?

éu’ — {(,lvf how- = gf'-ﬂ""t?: EC_}

b) Sam gets paid every two weeks. If he works 38 hours per week, how much does he
make each paychegue?

S P e (T R T Y

Example #2:

Cynthia works makingﬂsﬂaﬂ skateboards. She earns 45% of the price for each skateboard
made. It takes her 6.5 hours to make a 5575 skateboard. 759 . N
a) How much does she earn per skateboard? _':' e ;_:I Ug )
Faed Loy

ESTS x 4SS /= P55 < O4S
= $25%.75

b) How much does she earn per hour?

Zgg =4 31.5]

¢} If she works 39 hours every week, what is her gross income for the year?

539.8%39 = $1SS2,59 ¢,
bISS25Tx 52~ 380, 754,68

Now you shouwld be able to complete all the homework on the worksheet Q_/l-'rz
and Section 2.1 on Pg. 55; #1-4, 6, 9, 13, 14, 17, 18, 19, 22-24
_— — — gk
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